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7 fdel 4 0 oYX & Wl
BT Il © :

(A) ToIe

(B @

(C) TP b

(D) T IF

MICR &1 B B 2 :

(A) HARSE 56 draey ApiHIeH

(B) HHfCH & IS WX
(C) HHfeH 35 g AN
(D) SWH # W B &l

ffoRed § 9 -1 TR @
SR el & ?

(A) TR

(B) M

(C) IR

(D) TR

BRI W & TIRICIeY & YIR & -

(A) PHIFR
(B) FTUX
(C) TR
(D) ST W

(3)

Main window in a computer spreadsheet
is called :

(A) Worksheet

(B) Work

(C) Account Book

(D) Work Book

The full form of MICR is :

(A) Magnetic Ink
Recognition

(B) Magnetic Ink Code Reader

Character

(C) Magnetic Ink Cases Reader

(D) None of the above

Which of the following is not example of
hardware ?

(A) Scanner

(B) Printer

(C) Monitor

(D) Interpreter

Types of computer language translator

are :
(A) Compiler
(B) Interpreter
(C) Assemblers

(D) All of the above

Set-B



5. fHfafed § ¥ o9-9 9 WG 9T 5. Which of the following is called low level

FEa & ? language ?
(A)  HIIA T (A) Machine language
(B) TRl |9l (B) Assembly language
(C) THI (A) TG (B) (C) Both (A) and (B)
(D) SWE ¥ | FIg el (D) None of the above
6. 3TV W UAd feagd &1 faldre 6.  Every device on the internet has a unique
TS9 Bl =4 (ﬁm CLIE o @ﬂ ................ address (also called as internet
& el Sl %) | address).
(A) ST (A) DH
(B) arms. U 4 i . (B) IPVPP
(C) <3l T (C) DTH
(D) 3. Wl (D) IP
7. 99 W I 9Id T gl off Tl g 7. Information resource on web can be
accessed by :
(A) Y. AR Tel. g (A) URL
(B) UTd. <L <L Ul gNI (B) HTTP
(C) TH. TH. el g (C) SSL
(D) Sugad FI (D) All of the above
8. yoH fifeT o fods enT fawfid far 8. Who developed the first printing press ?
T ?
(A) I8 TeAat (A) Johan Guttenburg
(B) SX™HN (B) Erasmus
(C) TSI (C) Addison
(D) HTHT Irell (D) Marco Polo

414(N) (4) Set-B



10.

11.

414(N)

Frefeieg Regall o @ w1 Regal @

UEIH DI Sl 0T i bl Farid

P ¢

(A) ged el B faeg o gw
BEE

@) fifeT 5 @1 anfowr

©) Tw gw@l @ foR ewdfead
qrogfery

S

(D) TWYSY H WA Y&01 H URacH

qa! drdl geias ST & M @ fod

WM ¥ goll a9 T ?

(A) SIUHE
(B) ¥Rd
(C) siiefar
(D) °H

TS BT UH DI DIA-AT o ?

(A) oIS fcda
(B) diedd

(C) WMRR-TA

(D) AT BRI

(5)

10.

11.

Identify from the following points which

refer to the print revolution :

(A) The revolt by people against the

printed matters

(B)

The invention of printing press

(®)

Handwritten manuscript for printed

books

(D) Shift

from hand printing to

mechanical printing

Macro Polo brought back the knowledge
of woodblock printing to Italy from

which place ?

(A)

Japan
(B) India
(C) SriLanka

(D) China

Which was the first publication that
Guttenburg printed ?

(A)
(B)
(©)
(D)

Political Articles
Bible
Newspaper

Travel stories
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12.

13.

14.

15.

414(N)

<ol Ut &1 [ fodtar gRT gam ?
(A) Ugifad

(B) el WiegarH
(C) ®Rd AMCRR
(D) dfeedl AT

Ugell R Coll &l YA $RA TR B9
8 weRia grm ?

(A) Ted 3 ol

(B) HF STBIHIE

) fewi

(D) STda # & Big AL

Cell ¥ U@ T FHA ST B ford R
& STBMARE HY H W BI-91 fddbed 1
ST & ?

(A) T e

(B) fhde FF

(C) fme

(D) I FF

BIF-H HEH BT SYANT Cell § T olorg,
U IR IR TN & for) fobam T g ?

(A) FAE! AR
(B) U®SUCT q¥TR
(C) HF STHIHIH

(D) THSET AR

(6)

12.

13.

14.

15.

Tally package developed by :
(A)
(B)
(®)
(D)

Petronics
Tally Solution
Corel Software

Vedika Software

Which menu appears after starting Tally
for the first time ?

(A)
(B)
©)
(D)

Gateway of Tally
Company Information
Display

None of the above

Which option from company information
menu is selected to create a new company

in Tally ?

(A)
(B)
(©)
(D)

Company Create
Create Company
Create

New Company

Which submenu is used to create new

ledger, in

Tally ?
(A)
(B)
(©)
(D)

groups and voucher type

Inventory vouchers
Accounting vouchers
Company information

Accounting information

Set-B



16. dBicdd NN T 16.

(A) TSR SN 3ihs B AT HRAT B
(B) 3MUIAdI TSR

(C) 3MHRTG AT Sl 3ifds Bl Fal

& fooedy THg ST el BN 2
(D) SWE ¥ 4 FI5 1 T&I

17. <fdc wd fee dic & fory ol 9iicae © ¢ 17.

(A) 3MeeX + TH8 3fR 3Meey + THY
(B) Woidl + TH8 3fR affeex + TH7
(C) 3MeeR + TH9 3R affeex + THs

(D) FEIA + THY IR Fglel + TH8

18. gl AISAR &I YANT fdar Orew ® 18.

(A) Rui @ for

(B) ARCX T @ ford

(C) &I VPR A 46 THSE I 96
UPHIIUE H DY YHISUE & ford

(D) SWad # | BIS T

414(N) (7)

Optional voucher is :

(A)

(B)

(©)

(D)

Voucher which updates figure

Voucher type in emergency

Temporary voucher which does not

update any figure any where

None of the above

Tally shortcut for Debit and Credit note

is:

(A)

(B)

(©)

(D)

Alt + F8 and Alt + F9

Ctrl + F8 and Alt + F7

Alt + F9 and Alt + F8

Ctrl + F9 and Ctrl + F8

Contra voucher is used for :

(A)

(B)

(©)

(D)

Reporting

Master Entry

Cash A/c to Bank A/c or Bank A/c

to Cash Alc

None of the above

Set-B



19.

20.

21.

414(N)

Ugred e ). S H HHE! STBHIA @
W A @ fold - fddey W

febar Srerr &
(A) HUl e
(B) T ST
(C) ddam
(D) <R

Uegrgd a1 W, €1 9§ ST <ol H SugH
M R 3AE 1 & fold dIF-w11 fddmed

AN foam S 8

(A) SHAT

(B) IR

(©) ¥

(D) SWad # | BIg T2
U6 B H IT PI-91 dd & Wl °IC
ERILIEE R

(A) Tife TRaT

(B) Igel 8o

(C) ¥R

(D) @1 gRaT

(8)

19.

20.

21.

The option used to copy company data

into pendrive or CD is :

(A) Copy data

(B) Move data
(C) Backup

Restore

(D)

Which option is used to import data from
pen-drive or CD to appropriate place in

Tally ?

(A) Backup
(B) Restore
(C) Import

(D) None of the above

In a computer, element which is not a part
of chartis :

(A) Plotarea

(B) File handler

(C) Series

(D) Chart area

Set-B



22.

23.

24,

25.

414(N)

TF prYer Wredle § W, TR, A
IR ARHTH & SR B

(A) HRERME

(B) deidgerer

(C) e

(D) Reifeq TgRiT

U6 Wediic Wal H Ue Ufafte S ‘Aiiie
Ao Ao agAe ST
A ety 8

(A) e

(B) e

(C) o9

(D) T

HEATCT B

(A) ScEd

(B) FET

) Brsdle

(D) TS YRR

TH. UE-UdIe @ YA

PR H T ST b B |

(A) BEAMRRE Wede, fIomd BR-
HIRST

(B) TRIRM IR, FeNl doldl

o\
ddlleld

(C) THRTe RAIed, THsve wfdd

(D) STIE W

(9)

22.

23.

24,

25.

In a computer spreadsheet, sums,

average, MIN and MAX are example of :

(A)
(B)
(©)
(D)

Function
Calculation
Formulas

Relative addressing

like
‘Monthly Wages” or ‘Final Approval

An entry in a spreadsheet cell

Rating’ would most likely to be a :

(A) Calculation
(B)
(©)

(D)

Value
Label

Formula

The software which contains rows and
colums is called :

(A) Database
(B)
(®

(D)

Drawing
Spreadsheet

Word Processing

MS-Excel can be used to automate

(A) Financial statements, business fore-

casting
(B) Transaction register, inventory
control
(C) Account receivable, account
payable
(D) All of the above
Set-B



26.

217.

28.

29.

414(N)

NOT, AND, OR, 3R XOR & : 26.

(A) diRThd 3ifRes
(B) 3RARH affres
(C) A 3ffRed
(D) STda # & Big AL

TH. TH.-UaRTdl MR & 27.

(A) fiee ®
(B) M W

€) I W

(D) 3N TH./2 R

TRie § B $9d 91 Y% B & - 28.

(A) %
B) =
€ +
O) -

Excel ¥ Macros 99 @& ford fog oo 29.

BT AN fopar ST € 7
(A) faspera 3fs®
(B) I

(C) fagare c++

(D) ofrdT

(10)

NOT, AND, OR and XOR are:

(A) Logical operators
(B) Arithmetic operators
(C) Rational operators

(D) None of the above

MS-Excel is based on :

(A)  Windows
(B) DOS
(C) UNIX

(D) 0S/2

Formulas in Excel start with :

A) %
B) =
€ +
O) -

Which language is used to create Macros

in Excel ?

(A) Visual Basic
B) C
(C) Visual C++

(D) Java

Set-B



30.

31.

32.

33.

414(N)

1011010 3R 10110 &I SIS 3R D]
gRomg 2R

(A) 1010000
(B) 1101000

(C) 1110000
(D) SWE # W B &l

10011 @ 10110101 H § °CR 3R HBI
qROTH I :

(A) 11100000
(B) 10100010

(C) 01010000

(D) SWa ¥ ¥ IS T

eI M R B i i

(A) Dre fSdioM Aecud Taid
(B) DRI fSIH AU TR
(C) Bre fedivM AeEd TR

(D) SHA ¥ I

g, . IR, T, TINT 37T B

(A) B dfpT §

(B) ®ICIIZSS Nold Saar H

(C) =M (A) T4 (B)
(D) SUYa H A Bl 7l

(11)

30.

31.

32.

33.

Add 1011010 and 10110 and the result

will be :

(A) 1010000

(B) 1101000
(C) 1110000

(D)

None of the above

Subtract 10011 from 10110101 and the

result will be :

(A) 11100000

(B) 10100010
(C) 01010000

(D)

None of the above

CDMA stands for :
(A) Code Division Multiple Access
(B) Carrier Division Multiple Access

(C) Code Division Mobile Access

None of the above

(D)
IVRS is used in :
(A) Phone Banking

(B) Computerized Railway Inquiries
(C) Both (A) and (B)

None of the above

(D)

Set-B



34.

35.

36.

414(N)

g L UL H Frafeied 4 9 aF-4 wrsd
Wil Rafe v@g-v@E & [l SRarl!
g ?
(A)  HRR Bl
(B) STHER Hige
(C) ¥TYC Brecl

(D) TP HIEd

NoTd 3TTRETT YOIl Udh STeRYT B

(A) 59 GRIRIT R &
(B) 3ifers TRIRIT Ried &1
(C) TAIleIcihd ReH &7
(D) SWad # | BIg T2

CPU @ JIRIRIT TR # ghg o_ & ford
CPU 3R RAM & d/ fwfeiRed 4 4
fereFepT SURITT febam AT @ °

(A) TIA FANI

(B) Ads HERI

(C) Teldl HARI

(D) HI HERI

(12)

34.

35.

36.

Which of the following files in EDP is

responsible  for  permanent  record

maintenance ?

(A) Master file
(B) Transaction file
(C) Inputfile

(D) Work file

Railway reservation system is an example
of :
(A) Batch Processing System
(B) Online Processing System
(C) Analytical System

None of the above

(D)

Which of the following is used between
CPU and RAM to speed up processing

power of a CPU ?

(A) Virtual memory
(B) Secondary memory
(C) Flash memory

(D)

Cache memory

Set-B



37.

38.

39.

40.

414(N)

& W HET U H ARe A 9 g,
PEA & -

(A) FaT ficy

(B) Hi-gHiee fiex

(C) oR fiex

(D) STda # & Big AL

fqy @7 ggatr -

(A) RS <Y FARY
(B) "Hfed fowm 79N
() dffcrd foxd #HRY
(D) IS 3Nl HAR

HIeR HEfRad § | BF-A1 FR IR
|l © ?

(A) PRI

(B) FRITHI

(C) IR

(D) S W

U fhal age ufaf e ol ¢
(A) 1024 TS I

(B) 1000 STSCH I

(C) 100 ISTH FI

(D) SUYa H A Bl 7l

(13)

37.

38.

39.

40.

Such type of printer in which the printing
head contacts with the paper in printing

process are called as :

(A) Impact printer

(B) Non-impact printer
(C) Laser printer

(D)

None of the above

Identify the odd one :
(A)

(B)

(C) Optical disc memory

(D)

Storage tape memory

Magnetic disc memory

Read only memory

A computer can perform which of the

following tasks ?

(A) Computation
(B) Communication
(C) Processing

(D) All of the above

One kilo byte represents :

(A)
(B) 1000 bytes

1024 bytes

(C) 100 bytes

(D)

None of the above

Set-B



41.

42.

43.

44,

414(N)

CIU IR & gR e

g7 A7 |

(A) DS

(B) wiIl g
(C) NI T
(D) =

ST A R @R @ ahea o
T Il & -

(A)  HrTSferT

(B) TaSlageT

(C) feafir

(D) SWw ¥ ¥ I T

Java UM Sl 99 §SoR ¥ URsS fdar
T &, 39 $El Sl B :

(A) Vdele

(B) . Sl B

(C) .S

(D) U S&g, .

-9 & e fSared & 4 U qrE
Cad @ INTId e AT US dldd
e & ?

(A) T wfe

(B) WIgc-T-@sc Al

(C) s wfoe

(D) o=

(14)

41.

42.

43.

44,

Boolean Algebra is developed by

(A) Konard

(B) George Bool
(C) John Atanasoff
(D) Berry

The process of removing the errors in

program is called as :

(A) Compiling
(B) Executing
(C) Debbuging

(D) None of the above

The Java program which is embedded in
Web Browser is called as :

(A) Applet

(B) JDK

(C) JDBC

(D) AWT

Which is a logical circuit created within a

shared network between two network
devices ?

(A) Virtual Circuit

(B) Point-to-Point Circuit
(C) Leased Circuit

(D) WAN

Set-B



45.

46.

47.

414(N)

BIF-41 YICIdldl FEe d TR W BIgd
JUAS T AR SRS I > foRl
AR dedIge YU § UG WU W YA
febam e @ ?

(A) T9. TH <L

(B) TaHe

(C) T®. <. U,

(D) <. 3. O /ams. W,

TH. /], AR, () I A TE-TRIA H
AT BT &

(A) THA FaTer & ol

(B) 31¥®maH Mare o ford

(C) I (A) 3R (B)

(D) SWa ¥ § I3 T

MSTaRId # dd @I Heffd & @l
fafey / faferdt oar 8 ?

(A) Rdifea

(B) TeHIYS

(©) frrgs

(D) ST W

(15)

45.

46.

47.

Which protocol is used for uploading and
downloading files from client to server

and widely used in website management ?

(A) SMTP
(B) TELNET
(C) FTP

(D) TCP/IP

SQRT() in MS-Excel is used to :

(A) Calculating square root
(B) To find maximum
(C) Both (A)and (B)

(D) None of the above

What is/are the methods for referencing

the cell in MS-Excel ?

(A) Relative
(B) Absolute
(C) Mixed

(D) All of the above

Set-B



48.

49.

50.

414(N)

TR SIUME BT WA fhar wmr 48

g
(A)
(B)
(©)

(D)

T v e (Rfvee) Rid & w49

cgd e HiSfoT |
Rererel ser drefor 4
Jfesige-3RITS ST ArsfoiT |
SUa # ¥ 3 TE

TE-TR H IO~ &Y Gbd ¢

TN BR |

(A)

(B)

(©)
(D)

e,

g7
(A)
(B)
(©)
(D)

B SR I
RIS fESIgR &1
g fdeey @1
SWed H W B T8l

W Tgd @ pHE-aT gy 9y 50.

210.255.211
210.255.201.200

200.200.160.50

TFT (B) 3R (C)

(16)

E-R diagram is used in :

(A)

(B)

(©)

(D)

We

Network data modelling
Relational data modelling

Object-oriented data modelling

None of the above

can generate the printed and non-

printed (digital) report in MS-Access by

USING .ovevenene .

(A)

(B)

(©)
(D)

Form designer
Report designer
Query builder

None of the above

Which format of IP address is

valid ?

(A)
(B)
(©)
(D)

210.255.211
210.255.201.200
200.200.160.50

Both (B) and (C)

Set-B



51.

52.

53.

414(N)

DNS &1 3MIhR fde o ?
(A) TR Al

(B) et AeTfe

() foramre

(D) STda # & Big AL

Fefoiad & 4 @F-a1 5. S 3E. @
YA TE E ?

(A) X12

(B) . I 3ME. UHh. T AL I,

() 4. A3/ W

(D) X.400

gAdCe A JqaT B TN fhar o

Tl &

(A) TR IR W THE I HI WD

(B) M AR & N
(C) wfsc @S & gN

(D) <fdT F1E & g

(17)

51.

52.

53.

Who developed the DNS ?

(A) Berner Lee

(B) Paul Mockapetris

(C) Leonard

(D) None of the above

Which of the following is not an EDI

standard ?

(A) X.12

(B) EDIFACT

(C) TCT/IP

(D) X.400

Electronic cash service could be used

through :

(A) Purchasing of cash from currency
server

(B) Normal server

(C) Credit card

(D) Debit card

Set-B



54. fOEfIRIT § W $I9-A1 GHMRIC: 3-®hd 54, Which of the following is normally used

3 e & B Y. for micropayment in e-Commerce ?
(A) TP (A) E-Cash

(B) wfsc oTs (B) Credit Card

(C) Solaei<d dleic (C) Electronic Wallet

(D) SWE ¥ | TS el (D) None of the above

55. fod Rafd & g9 ST o1 Ta A1 997 31 55. In which case we can send and receive

U FR Gy & ? the data simultaneously ?
(A)  Ryeie (A) Simplex

(B) T Sl (B) Half Duplex

(C) el gwiad (C) Full Duplex

(D) Suga H A Bl el (D) None of the above

56. feriforRad dor Aegdi § @ @9-A1 g1 56. Which of the following communication

Yo frey ok 39 @ o1 ih 3 media is preferred for large bandwidth

and faster rate data transmission ?

for oo fohar Wi 8 2

(A) DU D (A) Co-axial cable
(B8) I < (B) UTP
(C) wg d (C) STP
(D) Jifficdal BIEaR (D) Optical fibre

414(N) (18) Set-B



57,

58.

59.

414(N)

FfdqTd daR war (@ A ) e
SEE B

(A) hRTE IR @

(B) HidTgel dIdNefd Dl
(C) URId aRRe @l
(D) M (B) 3R (C)

P9 YR & Fcdd B Th SeH b
3t fAfed fooll Jeaa Per oaT § 2

(A) gTHe
(B) TRgMC
(C) e
(D) o=

TA% HFYSR Sl A 3T | ST
g, @l faf¥re IRl ¥ ugar Wi g,
oY BEd §

() T T

(B) oM. M. v

(C) TR Uxw

(D) SUYa H A Bl 7l

(19)

S7.

58.

59.

Personal Communication Service (PCS)

Is an example of :

(A) Fixed Wireless

(B) Mobile Wireless

(C) Portable Wireless

(D) Both (B) and (C)

Which type of network is called as
private network contained within an
enterprise ?

(A) Internet
(B) Extranet
(C) Intranet

(D) WAN

Each computer which is directly
connected to internet is identified by

unique numbers called as :

(A) Machine Address
(B) IP Address
(C) Connection Address

None of the above

(D)

Set-B



60. HIF-9T GUCdIR Uuicyd & ford SuamT 60. Which software is used for presentation ?

fepam ST @ 2
(A) TH TH-78 (A) MS-Word
(B) TH. TH-URid (B) MS-Excel
(C) TH. UH-UR@sC (C) MS-PowerPoint
(D) SWE ¥ | TS el (D) None of the above
61. UUA BT fic o= & ford ugel o1d 2 61. For printing a document the first
condition is :
(A) U HIT BT ST (A) To check about the page setup
(B) fd fiiex @1 SraT (B) To check about the installed printer
(C) RIS &I e (C) To check about the paragraph
(D) Suga H A Bl el (D) None of the above
62. TH TH-UIR@EC B U : 62. MS-PowerPointisa:
(A) Sl 9L TH T (A) DBMS
(B) Uol<3IM AYCIIR (B) Presentation Software
(C) e (C) Spreadsheet
(D) SUYa H A Bl 7l (D) None of the above

414(N) (20) Set-B



63.

64.

65.

414(N)

e ¥ & dF-a1 Serw | Rl
YA & & ford STANT fdsam e & ?
(A) TR B

(B) <9

(c) Rure

(D) SWE & W B &l

frfeiad # & SI9-91 TBRfET § Wan
8l Wl © 7

(A) <ol

(B) TA. TH.-T

(C) TH. TH-T8

(D) <l (A) 3R (B)

fy=foRad & & SI9-91 e-mail Tg Tord
g7

(A) raj-yahoo.com
(B) raj-y@yahoo.com
(C) @raj-yahoo.com

(D) @M (A) 3R (C)

(21)

63.

64.

65.

Which of the following is used to retrieve

the record from a database ?

(A) Primary Key

(B) Table

(C) Report

(D) None of the above

Which of the following can be used in

accounting ?

(A) Tally

(B) MS-Excel

(C) MS-Word

(D) Both (A) and (B)

Which of the following e-mail addresses

is invalid ?

(A) raj-yahoo.com
(B) raj-y@yahoo.com
(C) @raj-yahoo.com

(D) Both (A) and (C)
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66.

67.

68.

414(N)

YIdd] & §-Hel W FHI Hel |URd B
g

(A) T A

(B) ¥ A

(C) ¥c #

(D) SWE & W B &

e Red § Wi sc@ W wd @

Tgell IR e Bleek H Woll Sl © 2

A

(B) <

(C) eI

(D) SWad # | BIg T2

3elrge df B ldem yae @b
g

(A) CABI gRI

(B) FUCHIC EW

(C) WEE 7S WG HTCIR g

(D) ST W

(22)

66.

67.

68.

All mails of recipient e-mail address are

stored in :

Inbox

(A)

(B) Trash

(C) Sent

(D) None of the above

All deleted mails in e-mail system will be

forwarded to which folder at first ?

(A) Trash

(B) Sent

(C) Inbox

(D) None of the above

Online banking provides its services

through :

(A) Telephone

(B) Internet

(C) Client end proprietary software

(D) All of the above
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69.

70.

71.

72.

414(N)

T U5 LYW §

(A) TATCITD BISel TR

(B) SoAGITD U8 CIRIPR

(C) TATCIND HRM SAHR

(D) SWE ¥ W B &l
frafafed 8 9 dF-A1  TeldIE

AITCRR BT SEIER € 7
(A) W

(B) THUHG-TS

(C) G (A) 3R (B)
(D) e

faversT 98 € U

(A) TIICHIE AITCRR
(B) ITRFST AlreRR
(C) Ried dffeRR

(D) T (B) ¥R (C)

frfeRad & ¥ o0 T IR @
Dehere B foRl IAER § ?
(A) T T

B) @ e
() e

(D) .37 1w

(23)

69.

70.

71.

72.

EFT refersto:

(A) Electronic File Transfer
(B) Electronic Fund Transfer
(C) Electronic Function Transfer

(D)

None of the above

Which of the following is an example of

application software ?

(A)
(B) MS-Word

Spreadsheet

(C) Both (A) and (B)

(D) UNIX

Windows 98 is a/an :
(A) Application software

(B) Operating software

(C) System software

(D) Both (B) and (C)

Which of the following is responsible for

all types of calculation ?

(A) ALU
(B) Control Unit
(C) Registers

(D) BUS
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73.

74,

75.

414(N)

A Do H aRes FER @ N T R
aifer :

(A) MR T 75 IYE ©

(B) T Ud. I, I & GE &

(C) WISHIYRRR &

@O) 9.7 9§

FefoRad § 9 @F-dl wRAFe FER)
g ?

(A) SRAM
(B) DRAM

(C) ROM

(D) SWa ¥ ¥ I3 T

Frfofed & 9 aM-a1 gqe farzw
g ?

(A) DS

(B) .Sl 37

(C) T (A) 3R (B)

(D) SUYa H A Bl 7l

(24)

73.

74.

75.

Internal memory in a CPU is nothing but :

(A) isaset of registers

(B) isasetof ALUs

(C) is microprocessor

(D) is BUS

Which of the following is permanent

memory ?

(A) SRAM
(B) DRAM
(C) ROM

None of the above

(D)

Which of the following is input

device ?

(A) Keyboard
(B) VDU
(C) Both (A) and (B)

None of the above

(D)
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76.

77,

78.

79.

414(N)

frefoiad & & @H-a1 SRIST R
Tl B ?

(A) <9

(B) %

©

(D) fomad

el § | BIF-91 SCed Yaw
TR T8 & ?

(A) MySQL

(B) 3N

(C) W

(D) PrErd

3. TH. 37TS. Hisdl ¥ fha- wag sy 8 ?

(A) 9
(B) 3
€ 7
(D) 11

1024 fdc fovd age & R 2 ?
(A) U@ dIzc
(B) 128 dI3C
(C) 1240 q1gC

(D) 64 dIgc

(25)

76.

77.

78.

79.

Which of the following is not an

operating system ?

(A) DOS
(B) Mac
© ¢

(D)

Linux

Which of the following is not database

management software ?

(A)
(B) Oracle

MySQL

(C) Sybase

(D) COBOL

Number of layers in the OSI (Open

System Interconnection) model are :
(A) 9

(B) 3

€ 7

(D) 11

1024 bit is equal to how many byte ?
(A) 1hbyte
(B) 128 byte
(C) 1240 byte

(D) 64 byte
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80.

81.

82.

83.

414(N)

DHI-AT Tgel] UCRAC Td Sold & ?

(A) T
(B) 3Imdl
(C) 3ceIfdRel

(D) die¥

HE-I fdsd @7 YUH AHA gldelD
B AT ?

(A) TH

(B) AR-TeH

(C) URSIelE

(D) M@

0. 3. Th. 3 G BiH T & ?

(B) Uldld SIREHUC HiHCT

(A)

(C) UICqd SIHTC HIHC

(D) UfeeTRTS STRATC BT

T, T-08 U SETeR &
(A) JATRIST Rieq o1
(B) R fearsd @1
(C) TUADIM AFCRR &I

(D) YC fSargd @1

(26)

80.

81.

82.

83.

Which one is the first search engine in

Internet ?
(A) Google
(B) Archie
(C) Altavista

(D) WAIS

Which was the world’s first successful

electronic computer ?

(A) PARAM
(B) CRAY-1
(C) Pascaline

(D) ENIAC

What is the full form of PDF ?

(A) Printed Document Format
(B) Public Document Format
(C) Portable Document Format

(D) Published Document Format

MS-Word is an example of :
(A) Operating system

(B) Processing device

(C) Application software

(D)

Input device
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84.

85.

86.

87.

414(N)

CIERER ARG

(A) TRR B
(B) R fhsfercl
(C) dRIReTd BRI

(D) SW& H W PIg T
U6 J9I8C W T -

(A) 99 TSR F

(B) d9 [R @

(C) 99 U @I

(D) SWE # W B &
fFefoiad 4 & $F-91 99 G9OR - B
SETER el & 7

(A) TS YRR

(B) WRR®IAT HH
(C) 3MORT
(D) i (B) ¥d (C)

ReleMa Afsd # Serw fore Red
(DBMS) ¥ STeT Ta3 fham 7T @ -

(A) BEd & B H

(B) T¥ ® WU H

(C) Wiesx & w4 H

(D) SWad # | BIS T

(27)

84.

85.

86.

87.

Wi-Fi stands for :

(A) Wireless function
(B) Wireless fidelity
(C) Wireless functionation

None of the above

(D)

A website is the collection of :
(A)  Web Browser
(B) Web Server
(C) Web Page

None of the above

(D)

Which of the following is not the

example of web browser ?

Word Processor

(A)
(B) Firefox chrome
(C) Opera

(D) Both (B) and (C)

In relational model, data in DBMS s

stored in the form of :

(A) Files
(B) Table
(C) Folder
(D)

None of the above

Set-B



88. ghhT B UH  Ged 88. e is an organized collection of

\CECaURd data.
(A) Sl 9l TH T (A) DBMS
(B) < (B) Tables
(C) ST 99 (C) Database
(D) SUgad |4l (D) All of the above
89. 3. S IME. UYAU T : 89. EDI standards are :
(A) dicd B @ ford TN (A) Essential for B2B Commerce
(B) dicdl Y & ford STwal el (B) Not required for B2B Commerce
(C) 99 I8 SUAE 7ol & (C) Not universally available
(D) SUYa H H IS el (D) None of the above
90. HIftd U4 b cdd Bl awel & 90. Physical or logical arrangement of
network is :
(A) crreral (A) Topology
(B) mfew (B) Routing
(C) HcafeT (C) Networking
(D) TR (D) Control

414(N) (28) Set-B



91.

92.

93.

414(N)

PIF-H Acad cEr § B R
A1 EF D AALAGAT BN 7 2

A) VR

(B) A

©

(D) 9@

ATHP ¢ |
(A) VR
B
() R

(D) 9@

DA Yo CIRTeIfST U & ff fob

Jod W 99T § e o1 /e
9T ¥ CiGelc HNaT B |

(A)

(B) I WEE @ WU @ " AT
T ¥ gifele aRdT 2 |

R DIERGR I NG RN BRI
gl

(©)

(D)

(29)

91.

92.

93.

Which network topology requires a

central controller or hub ?

(A) Star
(B) Mesh
(C) Ring

Bus

(D)

................ Topology requires a multipoint

connection.

(A) Star
(B) Mesh
©)

(D)

Ring

Bus

A compiler is a translating program
which :
(A)

Translates instruction of a high

level language into machine
language program.
(B) Translates entire source program

into machine language program.

(C) It is not involved in program
execution.
(D) All of the above
Set-B



94. WM Soldeivid HACR S UA. 9. U W 94. What is the full form of the first

BT Q1 A $9? electronic computer ENIAC ?

(A) Sdfdghd JHUR®GA ey U4 (A) Electrical numerical integrator and
AT calculator
(B) SdRIME ARG FLNCX TG (B) Electronic numeric integrator and
Tt calculator
(C) 3olfdgda rqj-lﬁdncﬁ SoCS (C) Electrical numerical integrated
PRI computer
(D) SIARIRFARE LI BRI (D) Electronumeric integrity computer
95. dfdw, Yerd &R EAEAET # RS W 95. Computer are used in banking, railway
e and airlines :
(A) (A)  Mini
(B) 5! (B) Micro
(C) 9w (C) Super
(D) HTWHH (D) Mainframe
96. 8 fdc & 9YE @I Fed o : 96. A collection of 8 bits is called :
(A) dizc (A) Byte
(B) Rafe (B) Record
(C) T (C) Word
(D) frea (D) Nibble

414(N) (30) Set-B



97.

98.

99.

100.

414(N)

Ctrl 3R Shift & J&R & gofl & ?

(A)
(B)
(©)
(D)

NSERTES
FeR
AERR
TN

R R Foll &7 ACHE o -

(A)
(B)
(©)
(D)

et + e + =
el + Rive - =
TR

T+

WWW‘@E’\’GG%QU 2

(A)
(B)
(©)
(D)

URIRAT fSarsd a1
WIS feargd &
TG feare @
Freeye feares @1

HRIRR DI T, TA-URIA B
fowR 2 -

(A)
(B)
(©)
(D)

Word
XLS
doc

JPG

(31)

97.

98.

99.

100.

What type of key are ‘Ctrl” and ‘Shift’ ?
(A) Adjustment

(B) Function

(C) Modifier

(D) Alphanumeric

Shortcut key for super script is :
(A) Ctrl + Shift + =

(B) Ctrl + Shift— =

(C) Ctrl +

(D) Ctrl+-

A bar code reader is an example of :
(A) Processing device

(B) Storage device

(C) Input device

(D) Output device

Extension of computer MS-Excel file is :

(A) Word

(B) XLS

(C) doc
(D) JPG
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
3 @ @ © ®

Illegible answers with cutting and
over-writing or half filled circle will be
cancelled.

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRIT9T STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE AT GeH SHE SR Bl © |
IR Bl OMR NRR-e H Fd g9 avr §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
ST TR T U IR T2 Plel IT 98ell 1T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM @ b GEH & A0S o TN
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TA. IR, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. 3i. TH. 3R. STR-U5& (OMR Answer Sheet) R
B N fore & 7@ I9H A T W0 orgen 3l
| Ig fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq afeT = 2|

10. @15 A WG BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, W ¥ |-, deigeicy, UoR T YR
B of ST T SHBT START HRAT afoid 8 |

12. 93 & Rl Ud IS ®UFRel § f=7ar g @
T H YT BT U WURYT & A BT |

qEcaqUl : YEIYRKIT Wie W Y Wi PR ol o
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E
oy,
a,
j
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